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exponents such as 3% - 3% = 31! and (52) = 5% as well as division properties and others.
1st E(‘Luiva_lent E BIx 2rd Equivalent Form 3rd Equivalent Foc;m
2*) ov )7 a0 -
| f'\ 1

v P T (PP S G

8. 37=

_ U

9. 1378= I

11. 5'=

© 2013 MATHEMATICS VISION PROJECT | MVP .
In partnership with the Utah State Office of Education

T immwnn A i A tlhin Cenatizra Camsssana Adbeilhaodine AlanCanmenenial Chasa Alilrn 2 0 Tl nsdad lanmaa

8.50x11.00 in 4 1n b

3= o o o o

Nov 3-11:48 AM



SM2-3.4 Radical Ideas - B5.notebook November 03, 2016

"1 SM2-Module 2 SE.pdf - Adobe Acrobat Reader DC = | & [y
File Edit View Window Help

Home Tools SM2-Module 2 SE....

BHQ O© 2/ M MO - F BEAT © 7

LDVCLCTIIIIIT WIICLLICTE dll LIIICC CAPICODIULLY 111 Cdlll PpIrUupICll UCIUW d1I'C CHUuLVAdICIIL JusLily .

or why they are not equivalent. f))*
(3. ¥ x 15(3*7%)= \6(.—7?-);) —(Bx] : \1@
=> _ -3 _ 2.9 ~ o . \F\JU‘
—-( ) ° P -2 WA

[__ N SRS

| 7
64 (27) 64 64(2)”
2x 2
14, 3(x-1)+4 3x-1 3(x-2) +7
|
» <
15.  50(2%*2) 25(2Z5+1) 50(4%)
x 1.7X xy 2
16. 30(1.05%) 30(1.05?) 30(1.055)
17. 20 (L.1% 20 (L1 1) ™ 157
(1.1%) .17 20(1.15)

1

3= o o o o

850%11.00in < [ I

Nov 3-11:51 AM



SM2-3.4 Radical Ideas - B5.notebook November 03, 2016

"1 SM2-Module 2 SE.pdf - Adobe Acrobat Reader DC = | & [y
File Edit View Window Help

Home Tools SM2-Module 2 SE....

BERQ OO 2/« M MO® = - 5 BEAT © ¢

LVCLCTIIIIIT WIICLLICT dll UI'ec capr CbblUllB lll Cd.l..ll pPruuicil pciuow dic Cllul\r’djlll. jusiily .

or why t%( ag‘e,?ot equivalent. [F) (q) )

12. 5@36 1 ¥ 15(3% 2)'

[__ N SRS

5:3.5.% , 3637 '\JU‘
- _ W

6(% ) 3 2 {Gﬁ' - %(’)) \(\m’\%

3. a2 64 7 64(_)x
2% 2
14, 3(x-1)+4 3x- 1 3(x-2) +7 I
' 15 5022 250221y 50(4) ‘

16. 3001057 30(1.053)” 30(1.053)2
17. 20 (1.19) 20 (L1 . (1.1%)5x

850%11.00in < [ i v

3= o o o o

Nov 3-11:52 AM



SM2-3.4 Radical Ideas - B5.notebook

November 03, 2016

i SM2-Module 2 SE.pdf - Adobe Acrcbat Reader DC

o T

File Edit View Window Help

Home Tools SM2-Module 2 SE....

B HQ OO 2 A O O

Simplify each expression. Your answer should still be in exponential form.
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A Practice Understanding Task (b >‘
."uc_lm they an@ =

Now that Tia and Tehani know that " = ' Mal

wondering which form, radical form or exponential form, is

best to use when working with numencal and
expressions. rod (m\ Q/-——

Tia says she prefers radicals sm e understands the fallamng properties for radicals (and

there are not too many propertiest remember): Inokex

If n is a positive mtege\i'f;r’eater than 1 and both a and b are 3;\]{1?& iesilfrilmbers then,
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Tehania says she prefers exponents since she understands the following properties for exponents
(and there are more properities to work with):

0 -
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DO THIS: [lustrate with examples and explain, using the properties of radicals and exponents, why
‘V ‘U'_ and a (“j_ ) are true identities.
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Using their preferred notation, Tia might simplify “’st as follows:

%F—fv‘xxx—f%rfxxf Al

(Tehani points out that Tia also used some exponent rules in her work.)

On the other hand, Tehani might simplify A x® as follows:

] 5 2 2 2 3f 2
Vat=xF=x™ = xP or x*-Ax

For each of the following problems, simplify the expression in the ways you think Tia and Tehani
might do it.

Original
expression
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What Tia and Tehani might do to simplify the expression:
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Tia and Tehani continue to use their preferred notation when solving equations.

For example, Tia might solve the equation (x + 4)3 =27 as follows:

(x+4)° =27

Y+ ay¥ =327 =43
x+4=3

x=-1

Tehani might solve the same equation as follows:

(x+4) =27

[(x+4)]*
x+4=3
x=-1

=274 =(3)"

For each of the following problems, simplify the expression in the ways you think Tia and Tehani

might do it.

Original equation

What Tia and Tehani might do to solve the equation:
4
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Zac is showing off his new graphing calculator to Tia and Tehani. He is particularly excited about
how his calculator will help him visualize the solutions to equations.

“Look,” Zac says. "I treat the equation like a system of two equations. I set the expression on the
left equal to y1 and the expression of the right equal to y2, and [ know at the x value where the

graphs intersect the expressions are equal to each other.”

Zac shows off his new method on both of the equations Tia and Tehani solved using the properties
of radicals and exponents. To everyone's surprise, both equations have a second solution.

1. Use Zac's graphical method to show that both of these equations have two solutions.
Determine the exact values of the solutions you find on the calculator that Tia and Tehani
did not find using their algebraic methods.

Tia and Tehani are surprised when they realize that both of these equations have more than one
answer.

2. Explain why there is a second solution to each of these problems.

3. Modify Tia's and Tehani's algebraic approaches so they will find both solutions.

4. Use Zac's graphing calculator approach to solve the following problem.

Carlos and Clarita deposited $300 in an account earning 5% interest. They want to take the
money out of the account when it has doubled in value. To the nearest month, when can they

withdraw their money?
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Homework

Finish 3.4 "Ready, Set, Go"

Mar 28-9:36 AM
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